THE CONSTANTS RELATED TO ISOSCELES ORTHOGONALITY IN NORMED SPACES AND ITS DUAL

HIROYASU MIZUGUCHI

ABSTRACT. We consider isosceles orthogonality and Birkhoff orthogonality, which are the most used notions of generalized orthogonality. In 2006, Ji and Wu introduced a geometric constant D(X) to give a quantitative characterization of the difference between these two orthogonality types. From their results, we have that $D(X) = D(X^*)$ holds for any symmetric Minkowski plane. On the other hand, for the James constant J(X), Saito, Sato and Tanaka recently showed that if the norm of a two-dimensional space X is absolute and symmetric then $J(X) = J(X^*)$ holds. In this paper, we consider the constant $D(X, \lambda)$ such that $D(X) = \inf_{\lambda \in \mathbb{R}} D(X, \lambda)$ and obtain that in the same situation $D(X, \lambda) = D(X^*, \lambda)$ holds for any $\lambda \in (0, 1)$.

1. Introduction

We denote by X a real normed space with the norm $\|\cdot\|$, the unit ball B_X and the unit sphere S_X . Throughout this paper, we assume that the dimension of X is at least two. In the case of that X is an inner product space, an element $x \in X$ is said to be orthogonal to $y \in X$ (denoted by $x \perp y$) if the inner product $\langle x, y \rangle$ is equal to zero. In the general setting of normed spaces, many notions of orthogonality have been introduced by means of equivalent propositions to the usual orthogonality in inner product spaces. For example, Birkhoff [2] introduced Birkhoff orthogonality: x is said to be Birkhoff orthogonal to y (denoted by $x \perp_B y$) if

$$\forall \lambda \in \mathbb{R}, \quad ||x + \lambda y|| \ge ||x||.$$

James [6] introduced isosceles orthogonality: x is said to be isosceles orthogonal to y (denoted by $x \perp_I y$) if

$$||x + y|| = ||x - y||.$$

These generalized orthogonality types have been studied in a lot of papers ([1, 7] and so on).

²⁰¹⁰ Mathematics Subject Classification. Primary 46B20.

Key words and phrases. Isosceles orthogonality, Birkhoff orthogonality, absolute normalized norm, piecewise linear function.

Recently, quantitative studies of the difference between two orthogonality types have been performed (see [5, 8, 13, 14]). Among of them, the constant

$$D(X) = \inf \left\{ \inf_{\lambda \in \mathbb{R}} \|x + \lambda y\| : x, y \in S_X, x \perp_I y \right\}$$

is introduced and studied by D. Ji and S. Wu [8]. This constant measures the difference between Birkhoff and isosceles orthogonalities in the unit sphere of X. In the paper [8], they obtained a result on a symmetric Minkowski plane.

Let X be a Minkowski plane. If there exists $e_1, e_2 \in S_X$ such that

$$||e_1 + te_2|| = ||e_1 - te_2|| = ||e_2 + te_1|| = ||e_2 - te_1||$$

for any $t \in \mathbb{R}$, then we call X a symmetric Minkowski plane and $\{e_1, e_2\}$ a pair of axes of X. Ji and Wu obtained the following

Theorem 1.1 ([8]). Let X be a symmetric Minkowski plane on \mathbb{R}^2 and $e_1 = (1,0)$, $e_2 = (0,1)$ be a pair of axes of X. Then

$$D(X) = \inf_{t \in \mathbb{R}} \frac{1 + t^2}{\|(t, 1)\| \|(t, 1)\|_*},$$

where $\|\cdot\|_*$ denotes the norm of the dual space of X.

On the other hand, Saito, Sato and Tanaka obtained a results on the James constant of the space \mathbb{R}^2 and its dual space. A normed space X is said to be uniformly non-square if there exists a number $\delta > 0$ such that $||x + y|| > 2(1 - \delta)$ and $x, y \in S_X$ implies $||x - y|| < 2(1 - \delta)$. The James constant

$$J(X) = \sup\{\min\{\|x + y\|, \|x - y\|\} : x, y \in S_X\}$$

was defined by Gao and Lau [4]. It is known that X is uniformly non-square if and only if J(X) < 2. On the other hand, in general, the equality $J(X) = J(X^*)$ does not necessarily hold. A norm $\|\cdot\|$ on \mathbb{R}^2 is said to be symmetric if $\|(x,y)\| = \|(y,x)\|$ for all (x,y) and absolute if $\|(x,y)\| = \|(|x|,|y|)\|$ for all (x,y). Saito, Sato and Tanaka obtained the following

Theorem 1.2 ([16]). Let X be a two-dimensional real normed space \mathbb{R}^2 equipped with a symmetric absolute norm. Then $J(X) = J(X^*)$.

We consider a function

$$D(X, \lambda) = \inf\{\|x + \lambda y\| : x, y \in S_X, x \perp_I y\}.$$

It is easy to see that $D(X) = \inf_{\lambda \in \mathbb{R}} D(X, \lambda)$.

In the paper [4], Gao and Lau also introduce Schäffer constant

$$S(X) = \inf\{\max\{\|x + y\|, \|x - y\|\} : x, y \in S_X\}.$$

The equality J(X)S(X) = 2 holds for any normed space. Gao and Lau showed that the James constant J(X) and the Schäffer constant S(X) are reformulated in

$$J(X) = \sup\{||x + y|| : x, y \in S_X, x \perp_I y\}$$

$$S(X) = \inf\{\|x + y\| : x, y \in S_X, x \perp_I y\},\$$

respectively. Hence one has D(X, 1) = S(X) = 2/J(X). Thus, for the space $X = \mathbb{R}^2$ with a symmetric absolute norm, from the above theorems, we have

$$\inf_{\lambda \in \mathbb{R}} D(X, \lambda) = \inf_{\lambda \in \mathbb{R}} D(X^*, \lambda)$$
 and $D(X, 1) = D(X^*, 1)$.

Meanwhile, for $\lambda = 0$, we clearly have $D(X, 0) = 1 = D(X^*, 0)$. Therefore, our aim in this paper is to obtain that if X is the space \mathbb{R}^2 with a symmetric absolute norm, then $D(X, \lambda) = D(X^*, \lambda)$ for any $\lambda \in (0, 1)$

2. Preliminaries

Recall that a norm $\|\cdot\|$ on \mathbb{R}^2 is said to be absolute if

$$||(x,y)|| = ||(|x|,|y|)||$$

for all $(x,y) \in \mathbb{R}^2$, and normalized if $\|(1,0)\| = \|(0,1)\| = 1$. The family of all absolute normalized norms on \mathbb{R}^2 is denoted by AN_2 . As in Bonsall and Duncan [3], AN_2 is in a one-to-one correspondence with the family Ψ_2 of all convex functions ψ on [0,1] with $\max\{1-t,t\} \leq \psi(t) \leq 1$ for all $0 \leq t \leq 1$. Indeed, for any $\|\cdot\| \in AN_2$ we put $\psi(t) = \|(1-t,t)\|$. Then $\psi \in \Psi_2$. Conversely, for all $\psi \in \Psi_2$ let

$$\|(x,y)\|_{\psi} = \begin{cases} (|x| + |y|)\psi\left(\frac{|y|}{|x| + |y|}\right) & \text{if } (x,y) \neq (0,0), \\ 0 & \text{if } (x,y) = (0,0). \end{cases}$$

Then $\|\cdot\|_{\psi} \in AN_2$, and $\psi(t) = \|(1-t,t)\|_{\psi}$ (cf. [15]).

We also recall symmetry. A norm $\|\cdot\|$ on \mathbb{R}^2 is said to be symmetric if $\|(x,y)\| = \|(y,x)\|$ for all $(x,y) \in \mathbb{R}^2$. A function $\psi \in \Psi_2$ is said to be symmetric if $\psi(1-t) = \psi(t)$ for all $t \in [0,1]$. We note that a symmetric norm $\|\cdot\| \in AN_2$ is associated with a symmetric function $\psi \in \Psi_2$. Let Ψ_2^S be the collection of all symmetric function in Ψ_2 .

For $\psi \in \Psi_2$, the dual function ψ^* on [0,1] is defined by

$$\psi^*(s) = \sup \left\{ \frac{(1-t)(1-s) + ts}{\psi(t)} : t \in [0,1] \right\}$$

for $s \in [0, 1]$. It was proved that $\psi^* \in \Psi_2$ and that $\|\cdot\|_{\psi^*} \in AN_2$ is the dual norm of $\|\cdot\|_{\psi}$, that is, $(\mathbb{R}^2, \|\cdot\|_{\psi})^*$ is identified with $(\mathbb{R}^2, \|\cdot\|_{\psi^*})$ (cf. [10, 11, 12]).

For simplicity, we write X_{ψ} for the space \mathbb{R}^2 with an absolute norm $\|\cdot\|_{\psi}$. Our aim can be turned into the following form:

Theorem 2.1. Let $\psi \in \Psi_2^S$. Then $D(X_{\psi}, \lambda) = D(X_{\psi^*}, \lambda)$ for any $\lambda \in (0, 1)$.

Let $\psi \in \Psi_2^S$ and $t \in [0,1]$. It is known that for $x = (1-t,t)/\psi(t) \in S_{X_{\psi}}$, an element $y = (-t,1-t)/\psi(t)$ is the unique one satisfying $x \perp_I y$ and $y \in S_{X_{\psi}}$, with the exception of -y ([4, 9]). Letting

$$g_{\lambda}(t) = \begin{cases} \frac{\lambda + (1 - \lambda)t}{1 + \lambda - 2\lambda t} & \text{if } 0 \le t \le \frac{1 - \lambda}{2}, \\ \frac{1 - (1 + \lambda)t}{1 + \lambda - 2\lambda t} & \text{if } \frac{1 - \lambda}{2} \le t \le \frac{1}{2} \end{cases}$$

and

$$G_{\psi,\lambda}(t) = \frac{1 + \lambda - 2\lambda t}{\psi(t)} \psi(g_{\lambda}(t)),$$

we have $0 \le g_{\lambda}(t) \le 1/2$ and $||x + \lambda y||_{\psi} = G_{\psi,\lambda}(t)$. In addition, let

$$h_{\lambda}(t) = \begin{cases} \frac{\lambda - (1+\lambda)t}{1+\lambda - 2t} & \text{if } 0 \le t \le \frac{\lambda}{1+\lambda}, \\ \frac{-\lambda + (1+\lambda)t}{1-\lambda + 2\lambda t} & \text{if } \frac{\lambda}{1+\lambda} \le t \le \frac{1}{2} \end{cases}$$

and

$$H_{\psi,\lambda}(t) = \begin{cases} \frac{1+\lambda-2t}{\psi(t)} \psi(h_{\lambda}(t)) & \text{if } 0 \le t \le \frac{\lambda}{1+\lambda}, \\ \frac{1-\lambda+2\lambda t}{\psi(t)} \psi(h_{\lambda}(t)) & \text{if } \frac{\lambda}{1+\lambda} \le t \le \frac{1}{2}. \end{cases}$$

Then we have $0 \le h_{\lambda}(t) \le 1/2$ and $||x - \lambda y||_{\psi} = H_{\psi,\lambda}(t)$. Thus, the constant $D(X_{\psi}, \lambda)$ is given by

$$D(X_{\psi}, \lambda) = \min \left\{ \min_{0 \le t \le 1/2} G_{\psi, \lambda}(t), \min_{0 \le t \le 1/2} H_{\psi, \lambda}(t) \right\}.$$

The function g_{λ} maps [0, 1/2] to $[\min\{(1-\lambda)/2, \lambda/(1+\lambda)\}, 1/2]$. In particular, one has $g_{\lambda}: [0, (1-\lambda)/2] \mapsto [\lambda/(1+\lambda), 1/2]$ and $g_{\lambda}: [(1-\lambda)/2, 1/2] \mapsto [(1-\lambda)/2, 1/2]$. On the other hand, the function h_{λ} maps [0, 1/2] to $[0, \max\{(1-\lambda)/2, \lambda/(1+\lambda)\}]$. Especially, one has $h_{\lambda}: [0, \lambda/(1+\lambda)] \mapsto [0, \lambda/(1+\lambda)]$ and $h_{\lambda}: [\lambda/(1+\lambda), 1/2] \mapsto [0, (1-\lambda)/2]$. We obtain

Lemma 2.2. Let $\psi \in \Psi_2^S$. Then the following hold:

- (1) If $t \in [0, (1 \lambda)/2]$, then $h_{\lambda}(g_{\lambda}(t)) = t$ and $H_{\psi,\lambda}(g_{\lambda}(t)) = (1 + \lambda^2)/G_{\psi,\lambda}(t)$.
- (2) If $t \in [(1-\lambda)/2, 1/2]$, then $g_{\lambda}(g_{\lambda}(t)) = t$ and $G_{\psi,\lambda}(g_{\lambda}(t)) = (1+\lambda^2)/G_{\psi,\lambda}(t)$.
- (3) If $t \in [0, \lambda/(1+\lambda)]$, then $h_{\lambda}(h_{\lambda}(t)) = t$ and $H_{\psi,\lambda}(h_{\lambda}(t)) = (1+\lambda^2)/H_{\psi,\lambda}(t)$.
- (4) If $t \in [\lambda/(1+\lambda), 1/2]$, then $g_{\lambda}(h_{\lambda}(t)) = t$ and $G_{\psi,\lambda}(h_{\lambda}(t)) = (1+\lambda^2)/H_{\psi,\lambda}(t)$.

Proof. For elements x=(a,b) and y=(-b,a), one has $x\perp_I y$ and $x+\lambda y=(a-\lambda b,b+\lambda a)$. Let $z=(-(b+\lambda a),a-\lambda b)$. Then we obtain $x+\lambda y\perp_I z$ and

$$x + \lambda y - \lambda z = (1 + \lambda^2)(a, b) = (1 + \lambda^2)x.$$

In addition, for $x - \lambda y = (a + \lambda b, b - \lambda a)$, letting $w = (-(b - \lambda a), a + \lambda b)$, we have $x - \lambda y \perp_I w$ and $x - \lambda y + \lambda w = (1 + \lambda^2)x$. Thus, we obtain this lemma. \square

3. On the piecewise linear functions

In this section, we treat the piecewise linear functions. A finite sequence $(t_i)_{i=0}^n$ is said to be a partition of the interval [0,1/2] if $0=t_0< t_1< \cdots < t_n=1/2$. Any finite subset of [0,1/2] including 0 and 1/2 can be viewed as a partition of [0,1/2] by taking strictly increasing rearrangement. Thus one can identify a partition $(t_i)_{i=0}^n$ with a set $\{t_i: 0 \leq i \leq n\}$. A function ψ on [0,1/2] is said to be piecewise linear if its graph is broken line. That is, ψ is piecewise linear if there exists a partition $(t_i)_{i=0}^n$ of [0,1/2] and a sequence $(a_i)_{i=0}^n \subset [1/2,1]$ such that

$$\psi(t) = \frac{a_i - a_{i-1}}{t_i - t_{i-1}} t + \frac{a_{i-1}t_i - a_it_{i-1}}{t_i - t_{i-1}}$$

for each $t \in [t_{i-1}, t_i]$. It is easy to see that $\psi(t_i) = a_i$ for each $0 \le i \le n$. Letting

$$\alpha_i = \frac{a_i - a_{i-1}}{t_i - t_{i-1}}$$
 and $\beta_i = \frac{a_{i-1}t_i - a_it_{i-1}}{t_i - t_{i-1}}$,

we have $\psi(t) = \alpha_i t + \beta_i$ for each $t \in [t_{i-1}, t_i]$. A point t_i satisfying 0 < i < n and $\alpha_i < \alpha_{i+1}$ is called the corner point of ψ . We remark that every corner point is deduced by determining the intersection point of two distinct lines. A partition is said to be simplified if all the elements t_1, t_2, \dots, t_{n-1} are corner points. The piecewise linear function ψ on [0, 1/2] extends to a piecewise linear function on the interval [0, 1] by $\psi(1 - t) = \psi(t)$.

For a piecewise linear function $\psi \in \Psi_2^S$, we obtain the following

Lemma 3.1. Let $\psi \in \Psi_2^S$ be a piecewise linear function with a partition $(t_i)_{i=0}^n$. Suppose that there exists n_1, n_2 such that $0 \le n_1, n_2 \le n$, $t_{n_1} = (1 - \lambda)/2$ and $t_{n_2} = \lambda/(1 + \lambda)$. Then

$$D(X_{\psi}, \lambda) = \min \{ \min_{0 \le i \le n} G_{\psi, \lambda}(t_i), \min_{0 \le i \le n} H_{\psi, \lambda}(t_i), \min_{n_1 \le i \le n} G_{\psi, \lambda}(g_{\lambda}(t_i)), \\ \min_{n_2 \le i \le n} G_{\psi, \lambda}(h_{\lambda}(t_i)), \min_{0 \le i \le n_1} H_{\psi, \lambda}(g_{\lambda}(t_i)), \min_{0 \le i \le n_2} H_{\psi, \lambda}(h_{\lambda}(t_i)) \}.$$

Proof. For i, let $I_i = [t_{i-1}, t_i]$,

$$J_{i} = \begin{cases} [g_{\lambda}(t_{i-1}), g_{\lambda}(t_{i})] & \text{if } 1 \leq i \leq n_{1} \\ [g_{\lambda}(t_{i}), g_{\lambda}(t_{i-1})] & \text{if } n_{1} < i \leq n \end{cases}$$

and

$$K_i = \begin{cases} [h_{\lambda}(t_i), h_{\lambda}(t_{i-1})] & \text{if } 1 \le i \le n_2, \\ [h_{\lambda}(t_{i-1}), h_{\lambda}(t_i)] & \text{if } n_2 < i \le n. \end{cases}$$

One has that $(1 - \lambda)/2 \le \lambda/(1 + \lambda)$ if and only if $\sqrt{2} - 1 \le \lambda$. We first suppose $\sqrt{2} - 1 \le \lambda \le 1$. Then $(1 - \lambda)/2 \le \lambda/(1 + \lambda)$ and hence $n_1 \le n_2$.

Let $t \in [0, (1 - \lambda)/2]$. Take i, j, k such that $t \in I_i$, $g_{\lambda}(t) \in I_j$ and $h_{\lambda}(t) \in I_k$. Then one has $0 \le i \le n_1$, $n_2 \le j \le n$ and $0 \le k \le n_2$. From Lemma 2.2, we have $t \in K_j \cap K_k$. Then the functions $G_{\psi,\lambda}$ and $H_{\psi,\lambda}$ are given by

$$G_{\psi,\lambda}(t) = \frac{1+\lambda-2\lambda t}{\psi(t)}\psi(g_{\lambda}(t)) = \frac{1+\lambda-2\lambda t}{\alpha_{i}t+\beta_{i}} \left\{ \alpha_{j} \left(\frac{\lambda+(1-\lambda)t}{1+\lambda-2\lambda t} \right) + \beta_{j} \right\}$$
$$= \frac{\{(1-\lambda)\alpha_{j} - 2\lambda\beta_{j}\}t + \lambda\alpha_{j} + (1+\lambda)\beta_{j}}{\alpha_{i}t+\beta_{i}}$$

and

$$H_{\psi,\lambda}(t) = \frac{1+\lambda-2t}{\psi(t)}\psi(h_{\lambda}(t)) = \frac{1+\lambda-2t}{\alpha_{i}t+\beta_{i}} \left\{ \alpha_{k} \left(\frac{\lambda-(1+\lambda)t}{1+\lambda-2t} \right) + \beta_{k} \right\}$$
$$= \frac{-\{(1+\lambda)\alpha_{k}+2\beta_{k}\}t + \lambda\alpha_{k} + (1+\lambda)\beta_{k}}{\alpha_{i}t+\beta_{i}}.$$

Since $G_{\psi,\lambda}$ and $H_{\psi,\lambda}$ are monotone on $I_i \cap K_j$ and $I_i \cap K_k$ respectively, we have

$$G_{\psi,\lambda}(t) \ge \min\{G_{\psi,\lambda}(t_i), G_{\psi,\lambda}(t_{i-1}), G_{\psi,\lambda}(h_{\lambda}(t_i)), G_{\psi,\lambda}(h_{\lambda}(t_{i-1}))\}$$

and

$$H_{\psi,\lambda}(t) \geq \min\{H_{\psi,\lambda}(t_i), H_{\psi,\lambda}(t_{i-1}), H_{\psi,\lambda}(h_{\lambda}(t_k)), H_{\psi,\lambda}(h_{\lambda}(t_{k-1}))\}.$$

Let $t \in [(1-\lambda)/2, \lambda/(1+\lambda)]$. We take i, j, k such that $t \in I_i$, $g_{\lambda}(t) \in I_j$ and $h_{\lambda}(t) \in I_k$ also in this case. Then one has $n_1 \leq i \leq n_2$, $n_1 \leq j \leq n$ and $0 \leq k \leq n_2$. From Lemma 2.2, we have $t \in J_j \cap K_k$. Then the function $G_{\psi,\lambda}$ is given by

$$G_{\psi,\lambda}(t) = \frac{1+\lambda-2\lambda t}{\psi(t)}\psi(g_{\lambda}(t)) = \frac{1+\lambda-2\lambda t}{\alpha_i t + \beta_i} \left\{ \alpha_j \left(\frac{1-(1+\lambda)t}{1+\lambda-2\lambda t} \right) + \beta_j \right\}$$
$$= \frac{-\{(1+\lambda)\alpha_j + 2\lambda\beta_j\}t + \alpha_j + (1+\lambda)\beta_j}{\alpha_i t + \beta_i}.$$

On the other hand, the function $H_{\psi,\lambda}$ is given by the formula in the above case. Since $G_{\psi,\lambda}$ and $H_{\psi,\lambda}$ are monotone on $I_i \cap J_j$ and $I_i \cap K_k$ respectively, we have

$$G_{\psi,\lambda}(t) \geq \min\{G_{\psi,\lambda}(t_i), G_{\psi,\lambda}(t_{i-1}), G_{\psi,\lambda}(g_{\lambda}(t_j)), G_{\psi,\lambda}(g_{\lambda}(t_{j-1}))\}$$

and

$$H_{\psi,\lambda}(t) \ge \min\{H_{\psi,\lambda}(t_i), H_{\psi,\lambda}(t_{i-1}), H_{\psi,\lambda}(h_{\lambda}(t_k)), H_{\psi,\lambda}(h_{\lambda}(t_{k-1}))\}.$$

Let $t \in [\lambda/(1+\lambda), 1/2]$. Take i, j, k such that $t \in I_i$, $g_{\lambda}(t) \in I_j$ and $h_{\lambda}(t) \in I_k$. Then one has $n_2 \leq i \leq n$, $n_1 \leq j \leq n$ and $0 \leq k \leq n_1$. From Lemma 2.2, we have $t \in J_j \cap J_k$. Then the functions $G_{\psi,\lambda}$ is given by the formula in the above paragraph. On the other hand, the function $H_{\psi,\lambda}$ is given by

$$H_{\psi,\lambda}(t) = \frac{1 - \lambda + 2\lambda t}{\psi(t)} \psi(h_{\lambda}(t)) = \frac{1 - \lambda + 2\lambda t}{\alpha_i t + \beta_i} \left\{ \alpha_k \left(\frac{-\lambda + (1 + \lambda)t}{1 - \lambda + 2\lambda t} \right) + \beta_k \right\}$$
$$= \frac{\{(1 + \lambda)\alpha_k + 2\lambda\beta_k\}t - \lambda\alpha_k + (1 - \lambda)\beta_k}{\alpha_i t + \beta_i}.$$

Since $G_{\psi,\lambda}$ and $H_{\psi,\lambda}$ are monotone on $I_i \cap J_j$ and $I_i \cap J_k$ respectively, we have

$$G_{\psi,\lambda}(t) \ge \min\{G_{\psi,\lambda}(t_i), G_{\psi,\lambda}(t_{i-1}), G_{\psi,\lambda}(g_{\lambda}(t_i)), G_{\psi,\lambda}(g_{\lambda}(t_{i-1}))\}$$

and

$$H_{\psi,\lambda}(t) \ge \min\{H_{\psi,\lambda}(t_i), H_{\psi,\lambda}(t_{i-1}), H_{\psi,\lambda}(g_{\lambda}(t_k)), H_{\psi,\lambda}(g_{\lambda}(t_{k-1}))\}.$$

Suppose that $0 \le \lambda \le \sqrt{2} - 1$. Then $\lambda/(1+\lambda) \le (1-\lambda)/2$ and hence $n_2 \le n_1$. In a similar way, we have the following:

Let $t \in [0, \lambda/(1+\lambda)]$. Then we have

$$G_{\psi,\lambda}(t) \geq \min\{G_{\psi,\lambda}(t_i), G_{\psi,\lambda}(t_{i-1}), G_{\psi,\lambda}(h_{\lambda}(t_i)), G_{\psi,\lambda}(h_{\lambda}(t_{i-1}))\}$$

and

$$H_{\psi,\lambda}(t) \ge \min\{H_{\psi,\lambda}(t_i), H_{\psi,\lambda}(t_{i-1}), H_{\psi,\lambda}(h_{\lambda}(t_k)), H_{\psi,\lambda}(h_{\lambda}(t_{k-1}))\},$$

where $0 \le i \le n_2$, $n_2 \le j \le n$ and $0 \le k \le n_2$.

Let $t \in [\lambda/(1+\lambda), (1-\lambda)/2]$. Then we have

$$G_{\psi,\lambda}(t) \ge \min\{G_{\psi,\lambda}(t_i), G_{\psi,\lambda}(t_{i-1}), G_{\psi,\lambda}(h_{\lambda}(t_i)), G_{\psi,\lambda}(h_{\lambda}(t_{i-1}))\}$$

and

$$H_{\psi,\lambda}(t) \ge \min\{H_{\psi,\lambda}(t_i), H_{\psi,\lambda}(t_{i-1}), H_{\psi,\lambda}(g_{\lambda}(t_k)), H_{\psi,\lambda}(g_{\lambda}(t_{k-1}))\},$$

where $n_2 \leq i \leq n_1$, $n_2 \leq j \leq n$ and $0 \leq k \leq n_1$.

Let $t \in [(1 - \lambda)/2, 1/2]$. Then we have

$$G_{\psi,\lambda}(t) > \min\{G_{\psi,\lambda}(t_i), G_{\psi,\lambda}(t_{i-1}), G_{\psi,\lambda}(q_{\lambda}(t_i)), G_{\psi,\lambda}(q_{\lambda}(t_{i-1}))\}$$

and

$$H_{\psi,\lambda}(t) \ge \min\{H_{\psi,\lambda}(t_i), H_{\psi,\lambda}(t_{i-1}), H_{\psi,\lambda}(g_{\lambda}(t_k)), H_{\psi,\lambda}(g_{\lambda}(t_{k-1}))\},$$

re $n_1 < i < n, n_1 < j < n \text{ and } 0 < k < n_1.$

where
$$n_1 \leq i \leq n$$
, $n_1 \leq j \leq n$ and $0 \leq k \leq n_1$.

Combining the above lemma with Lemma 2.2 again, we have

Lemma 3.2. Let $\psi \in \Psi_2^S$ be a piecewise linear function with a partition $(t_i)_{i=0}^n$. Suppose that there exists n_1, n_2 such that $0 \le n_1, n_2 \le n$, $t_{n_1} = (1 - \lambda)/2$ and $t_{n_2} = \lambda/(1 + \lambda)$. Then

$$D(X_{\psi}, \lambda)$$

$$= \min \left\{ \min_{0 \le i \le n} G_{\psi,\lambda}(t_i), \min_{0 \le i \le n} H_{\psi,\lambda}(t_i), \frac{1 + \lambda^2}{\max_{0 \le i \le n} G_{\psi,\lambda}(t_i)}, \frac{1 + \lambda^2}{\max_{0 \le i \le n} H_{\psi,\lambda}(t_i)} \right\}.$$

Proof. From Lemma 2.2, we have

$$\min_{n_1 \leq i \leq n} G_{\psi,\lambda}(g_{\lambda}(t_i)) = \min_{n_1 \leq i \leq n} \frac{1 + \lambda^2}{G_{\psi,\lambda}(t_i)},$$

$$\min_{n_2 \leq i \leq n} G_{\psi,\lambda}(h_{\lambda}(t_i)) = \min_{n_2 \leq i \leq n} \frac{1 + \lambda^2}{H_{\psi,\lambda}(t_i)},$$

$$\min_{0 \le i \le n_1} H_{\psi,\lambda}(g_{\lambda}(t_i)) = \min_{0 \le i \le n_1} \frac{1 + \lambda^2}{G_{\psi,\lambda}(t_i)}$$

and

$$\min_{0 \le i \le n_2} H_{\psi,\lambda}(h_{\lambda}(t_i)) = \min_{0 \le i \le n_2} \frac{1 + \lambda^2}{H_{\psi,\lambda}(t_i)}.$$

Thus, we obtain this lemma.

4. The proof of main result

To prove Theorem 2.1, we first recall several results obtained in [16]:

Lemma 4.1 ([16], Lemma 4.5.). Let (ψ_n) be a monotone sequence of functions in Ψ_2^S . If $\|\psi_n - \psi\|_{\infty} \to 0$, then $\|\psi_n^* - \psi^*\|_{\infty} \to 0$.

Lemma 4.2 ([16], Lemma 4.6.). Let $\psi \in \Psi_2^S$. Then there exists a sequence (ψ_n) of strictly convex functions in Ψ_2^S such that $\|\psi_n - \psi\|_{\infty} \to 0$ and $\|\psi_n^* - \psi^*\|_{\infty} \to 0$ as $n \to \infty$.

To use these results, we need the following

Lemma 4.3. Let $0 < \lambda < 1$. Then the function $\psi \mapsto D(X_{\psi}, \lambda)$ is continuous.

Proof. Let (ψ_n) be a sequence in Ψ_2^S that converges uniformly to an element $\psi \in \Psi_2^S$. For any $t \in [0, 1/2]$, one has

$$|G_{\psi,\lambda}(t) - G_{\psi_n,\lambda}(t)| = (1 + \lambda - 2\lambda t) \left| \frac{\psi(g_{\lambda}(t))}{\psi(t)} - \frac{\psi_n(g_{\lambda}(t))}{\psi_n(t)} \right|$$

$$= (1 + \lambda - 2\lambda t) \frac{|\psi(g_{\lambda}(t))\psi_n(t) - \psi_n(g_{\lambda}(t))\psi(t)|}{\psi(t)\psi_n(t)}$$

$$\leq 8(1 + \lambda - 2\lambda t) \|\psi - \psi_n\|_{\infty}$$

$$\leq 16 \|\psi - \psi_n\|_{\infty}$$

and hence $||G_{\psi,\lambda} - G_{\psi_n,\lambda}||_{\infty} \le 16||\psi - \psi_n||_{\infty}$. Thus we have

$$\min_{0 \leq t \leq 1/2} G_{\psi,\lambda}(t) = \lim_{n \to \infty} (\min_{0 \leq t \leq 1/2} G_{\psi_n,\lambda}(t)).$$

For any $t \in [0, \lambda/(1+\lambda)]$, we have

$$|H_{\psi,\lambda}(t) - H_{\psi_n,\lambda}(t)| = (1 + \lambda - 2t) \left| \frac{\psi(h_{\lambda}(t))}{\psi(t)} - \frac{\psi_n(h_{\lambda}(t))}{\psi_n(t)} \right|$$

$$\leq 8(1 + \lambda - 2t) \|\psi - \psi_n\|_{\infty}$$

$$\leq 16 \|\psi - \psi_n\|_{\infty}.$$

For any $t \in [\lambda/(1+\lambda), 1/2]$, one has $|H_{\psi,\lambda}(t) - H_{\psi_n,\lambda}(t)| \le 16\|\psi - \psi_n\|_{\infty}$, too. So we have $\|H_{\psi,\lambda} - H_{\psi_n,\lambda}\|_{\infty} \le 16\|\psi - \psi_n\|_{\infty}$ and hence

$$\min_{0 \leq t \leq 1/2} H_{\psi,\lambda}(t) = \lim_{n \to \infty} (\min_{0 \leq t \leq 1/2} H_{\psi_n,\lambda}(t)).$$

Therefore we obtain

$$D(X_{\psi}, \lambda) = \min \left\{ \min_{0 \le t \le 1/2} G_{\psi, \lambda}(t), \min_{0 \le t \le 1/2} H_{\psi, \lambda}(t) \right\}$$
$$= \lim_{n \to \infty} \min \left\{ \min_{0 \le t \le 1/2} G_{\psi_n, \lambda}(t), \min_{0 \le t \le 1/2} H_{\psi_n, \lambda}(t) \right\} = \lim_{n \to \infty} D(X_{\psi_n}, \lambda),$$

which implies that the function $\psi \mapsto D(X_{\psi}, \lambda)$ is continuous.

Lemma 4.4. Suppose that $\psi \in \Psi_2^S$ is a piecewise linear function with a simplified partition $(t_i^{(0)})_{i=0}^{n_0}$. Let $(t_i)_{i=0}^n = (t_i^{(0)})_{i=0}^{n_0} \cup \{(1-\lambda)/2, \lambda/(1+\lambda)\}, t_{n_1} = (1-\lambda)/2$ and $t_{n_2} = \lambda/(1+\lambda)$. Then

$$D(X_{\psi}, \lambda) = \min \{ \min_{0 \le i \le n_0} G_{\psi, \lambda}(t_i^{(0)}), \min_{0 \le i \le n_0} H_{\psi, \lambda}(t_i^{(0)}),$$

$$\frac{1 + \lambda^2}{\max_{0 < i < n} G_{\psi, \lambda}(t_i)}, \frac{1 + \lambda^2}{\max_{0 < i < n} H_{\psi, \lambda}(t_i)} \}$$

Proof. From the definitions, one has

$$G_{\psi,\lambda}(t_{n_1}) = \frac{1+\lambda-2\lambda t_{n_1}}{\psi(t_{n_1})}\psi(g_{\lambda}(t_{n_1})) = \frac{1+\lambda^2}{\psi(t_{n_1})}\psi(1/2) = \frac{1+\lambda^2}{G_{\psi,\lambda}(1/2)} = \frac{1+\lambda^2}{G_{\psi,\lambda}(t_n)}$$

and

$$H_{\psi,\lambda}(t_{n_2}) = \frac{1 - \lambda + 2\lambda t_{n_2}}{\psi(t_{n_2})} \psi(h_{\lambda}(t_{n_2})) = \frac{1 + \lambda^2}{(1 + \lambda)\psi(t_{n_2})} \psi(0) = \frac{1 + \lambda^2}{H_{\psi,\lambda}(0)} = \frac{1 + \lambda^2}{H_{\psi,\lambda}(t_0)}.$$

On the other hand, from the fact that both t_{n_1} and t_{n_2} are not a corner point,

$$\psi(t_{n_l}) = \frac{\psi(t_{n_l+1}) - \psi(t_{n_l-1})}{t_{n_l+1} - t_{n_l-1}} t_{n_l} + \frac{\psi(t_{n_l-1})t_{n_l+1} - \psi(t_{n_l+1})t_{n_l-1}}{t_{n_l+1} - t_{n_l-1}} \quad (l = 1, 2).$$

As in the proof of Lemma 3.1, for j, k satisfying $g_{\lambda}(t_{n_2}) \in [t_{j-1}, t_j], h_{\lambda}(t_{n_1}) \in [t_{k-1}, t_k]$, we have

$$G_{\psi,\lambda}(t_{n_2}) \ge \min\{G_{\psi,\lambda}(t_{n_2+1}), G_{\psi,\lambda}(t_{n_2-1}), G_{\psi,\lambda}(h_{\lambda}(t_j)), G_{\psi,\lambda}(h_{\lambda}(t_{j-1}))\},$$

$$H_{\psi,\lambda}(t_{n_1}) \ge \min\{H_{\psi,\lambda}(t_{n_1+1}), H_{\psi,\lambda}(t_{n_1-1}), H_{\psi,\lambda}(g_{\lambda}(t_k)), H_{\psi,\lambda}(g_{\lambda}(t_{k-1}))\}$$

when $0 \le \lambda \le \sqrt{2} - 1$ and

$$G_{\psi,\lambda}(t_{n_2}) \ge \min\{G_{\psi,\lambda}(t_{n_2+1}), G_{\psi,\lambda}(t_{n_2-1}), G_{\psi,\lambda}(g_{\lambda}(t_j)), G_{\psi,\lambda}(g_{\lambda}(t_{j-1}))\}$$

$$H_{\psi,\lambda}(t_{n_1}) \ge \min\{H_{\psi,\lambda}(t_{n_1+1}), H_{\psi,\lambda}(t_{n_1-1}), H_{\psi,\lambda}(h_{\lambda}(t_k)), H_{\psi,\lambda}(h_{\lambda}(t_{k-1}))\}$$

when $\sqrt{2} - 1 \le \lambda \le 1$.

Hence we have

$$\min_{0 \le i \le n} G_{\psi,\lambda}(t_i) = \min_{0 \le i \le n} G_{\psi,\lambda}(t_i) = \min_{0 \le i \le n_0} G_{\psi,\lambda}(t_i^{(0)})$$

and

$$\min_{0 \le i \le n} H_{\psi, \lambda}(t_i) = \min_{0 \le i \le n, i \ne n_1, n_2} H_{\psi, \lambda}(t_i) = \min_{0 \le i \le n_0} H_{\psi, \lambda}(t_i^{(0)})$$

Thus, from Lemma 3.2, we obtain

$$D(X_{\psi}, \lambda) = \min \{ \min_{0 \le i \le n_0} G_{X, \lambda}(t_i^{(0)}), \min_{0 \le i \le n_0} H_{X, \lambda}(t_i^{(0)}),$$

$$\frac{1 + \lambda^2}{\max_{0 \le i \le n} G_{X, \lambda}(t_i)}, \frac{1 + \lambda^2}{\max_{0 \le i \le n} H_{X, \lambda}(t_i)} \}$$

as desired.

Now, we are ready to prove Theorem 2.1.

Proof of Theorem 2.1. Suppose that $\psi \in \Psi_2^S$ is a piecewise linear function with a simplified partition $(t_i^{(0)})_{i=0}^{n_0}$. One has that ψ^* is also piecewise linear function and hence there exist two sequences $(s_j)_{j=0}^m$ and $(b_j)_{j=0}^m$ such that

$$\psi^*(s) = \frac{b_j - b_{j-1}}{s_j - s_{j-1}} s + \frac{b_{j-1}s_j - b_j s_{j-1}}{s_j - s_{j-1}}$$

for any $s \in [s_{j-1}, s_j]$. We may consider that $(s_j)_{j=0}^m$ is also simplified.

For each pair (i, j) with $i \neq j$, let

$$\gamma_{i,j} = \frac{b_i - b_j}{s_i - s_j}$$
 and $\delta_{i,j} = \frac{b_j s_i - b_i s_j}{s_i - s_j}$,

respectively. We note that $\psi^*(s) = \gamma_{j,(j-1)}s + \delta_{j,(j-1)}$ for any $s \in [s_{j-1}, s_j]$. From the fact that $\psi^{**} = \psi$ ([12]), we have that

$$\psi(t) = \max_{0 \le s \le 1/2} \frac{(1-t)(1-s) + st}{\psi^*(s)} = \max_{1 \le j \le m} \max_{s \in [s_{j-1}, s_j]} \frac{(2t-1)s + 1 - t}{\gamma_{j, (j-1)}s + \delta_{j, (j-1)}}$$

$$= \max_{0 \le j \le m} \frac{(2s_j - 1)t + 1 - s_j}{b_j}$$

for any $t \in [0, 1/2]$. Let ℓ_i be the line given by

$$\ell_j(t) = \frac{(2s_j - 1)t + 1 - s_j}{b_i}$$

for each j, and let $I_k = \{t \in [0, 1/2] : \psi(t) = \ell_k(t)\}$ for each k.

Let $(t_i)_{i=0}^n = (t_i^{(0)})_{i=0}^{n_0} \cup \{(1-\lambda)/2, \lambda/(1+\lambda)\}, t_{n_1} = (1-\lambda)/2 \text{ and } t_{n_2} = \lambda/(1+\lambda).$ For $i = 0, t_0$ is just 0 and hence

$$G_{\psi,\lambda}(t_0) = H_{\psi,\lambda}(t_0) = (1+\lambda)\psi\left(\frac{\lambda}{1+\lambda}\right) = (1+\lambda)\psi(t_{n_2}).$$

Take j with $t_{n_2} \in I_j$. Then we have

$$\psi(t_{n_2}) = \frac{(2s_j - 1)t_{n_2} + 1 - s_j}{b_j} = \frac{(2s_j - 1)\lambda + (1 + \lambda)(1 - s_j)}{(1 + \lambda)b_j} = \frac{-(1 - \lambda)s_j + 1}{(1 + \lambda)b_j}$$

and so

$$(1+\lambda)\psi(t_{n_2}) = \frac{-(1-\lambda)s_j + 1}{b_i}.$$

If $s_j \leq t_{n_2}$, then we have

$$h_{\lambda}(s_j) = \frac{\lambda - (1 + \lambda)s_j}{1 + \lambda - 2s_j}$$

and

$$(1 + \lambda - 2s_j)\psi^*(h_{\lambda}(s_j)) \ge (1 + \lambda - 2s_j)(1 - h_{\lambda}(s_j)) = -(1 - \lambda)s_j + 1.$$

Suppose that $t_{n_2} \leq s_i$. Then one has

$$h_{\lambda}(s_j) = \frac{-\lambda + (1+\lambda)s_j}{1-\lambda + 2\lambda s_j}$$

and

$$(1 - \lambda + 2\lambda s_j)\psi^*(h_{\lambda}(s_j)) \ge (1 - \lambda + 2\lambda s_j)(1 - h_{\lambda}(s_j)) = -(1 - \lambda)s_j + 1.$$

It follows from $\psi^*(s_i) = b_i$ that

$$G_{\psi,\lambda}(t_0) = H_{\psi,\lambda}(t_0) = (1+\lambda)\psi(t_{n_2}) \le H_{\psi^*,\lambda}(s_j).$$

For i = n, we easily have

$$G_{\psi,\lambda}(t_n) = H_{\psi,\lambda}(t_n) = \frac{\psi(t_{n_1})}{\psi(t_n)}.$$

Take k with $t_{n_1} \in I_k$. Then one has

$$\psi(t_{n_1}) = \frac{(2s_k - 1)t_{n_1} + 1 - s_k}{b_k} = \frac{-2\lambda s_k + 1 + \lambda}{2b_k}$$

and hence

$$\frac{\psi(t_{n_1})}{\psi(t_n)} = \frac{-2\lambda s_k + 1 + \lambda}{2\psi(t_n)b_k}.$$

On the other hand,

$$\psi^*(s) \ge \frac{(1-s)\cdot 1/2 + s\cdot 1/2}{\psi(1/2)} = \frac{1}{2\psi(t_n)}$$

holds for any $s \in [0, 1/2]$. Thus for $g_{\lambda}(s_k)$, we have

$$(-2\lambda s_k + 1 + \lambda)\psi^*(g_\lambda(s_k)) \ge \frac{-2\lambda s_k + 1 + \lambda}{2\psi(t_n)}.$$

Since $\psi^*(s_k) = b_k$, we obtain

$$G_{\psi,\lambda}(t_n) = H_{\psi,\lambda}(t_n) = \frac{\psi(t_{n_1})}{\psi(t_n)} \le G_{\psi^*,\lambda}(s_k).$$

We also have

$$G_{\psi,\lambda}(t_{n_1}) = \frac{1+\lambda^2}{\psi(t_{n_1})}\psi(1/2).$$

From $\psi^*(1/2) = 1/(2\psi(1/2))$ and

$$\psi^*(t_{n_1}) \ge \frac{(1-t_{n_1})^2 + t_{n_1}^2}{\psi(t_{n_1})} = \frac{1+\lambda^2}{2\psi(t_{n_1})},$$

one has

$$G_{\psi,\lambda}(t_{n_1}) \le \frac{\psi^*(t_{n_1})}{\psi^*(1/2)} = G_{\psi^*,\lambda}(s_m) = H_{\psi^*,\lambda}(s_m).$$

One can check $H_{\psi,\lambda}(t_{n_2}) \leq G_{\psi^*,\lambda}(s_0) = H_{\psi^*,\lambda}(s_0)$, too.

Take arbitrary $i \in \{1, 2, \dots, n-1\}$ with $i \neq n_1, n_2$. Since t_i is a corner point, there exist two distinct lines ℓ_i and ℓ_j such that $\psi(t_i) = \ell_i(t_i) = \ell_j(t_i)$. It follows that

$$t_i = \frac{\gamma_{i,j} + \delta_{i,j}}{\gamma_{i,j} + 2\delta_{i,j}}$$
 and $\psi(t_i) = \frac{1}{\gamma_{i,j} + 2\delta_{i,j}}$.

Hence, for any $s \in [0, 1]$, we have

$$\psi^*(s) \ge \frac{(1-s)(1-t_i) + st_i}{\psi(t_i)} = \delta_{i,j}(1-s) + (\gamma_{i,j} + \delta_{i,j})s.$$

We pick the index k satisfying $g_{\lambda}(t_i) \in I_k$. If $i < n_1$, then

$$g_{\lambda}(t_i) = \frac{\lambda + (1 - \lambda)t_i}{1 + \lambda - 2\lambda t_i} = \frac{\gamma_{i,j} + (1 + \lambda)\delta_{i,j}}{(1 - \lambda)\gamma_{i,j} + 2\delta_{i,j}}.$$

Thus we have

$$\psi(g_{\lambda}(t_i)) = \frac{(2s_k - 1)g_{\lambda}(t_i) + 1 - s_k}{b_k} = \frac{\{(1 + \lambda)\gamma_{i,j} + 2\lambda\delta_{i,j}\}s_k - \lambda\gamma_{i,j} + (1 - \lambda)\delta_{i,j}}{b_k\{(1 - \lambda)\gamma_{i,j} + 2\delta_{i,j}\}}$$

and hence

$$G_{\psi,\lambda}(t_i) = \frac{1 + \lambda - 2\lambda t_i}{\psi(t_i)} \psi(g_{\lambda}(t_i)) = \frac{\{(1 + \lambda)\gamma_{i,j} + 2\lambda\delta_{i,j}\}s_k - \lambda\gamma_{i,j} + (1 - \lambda)\delta_{i,j}}{b_k}.$$

When $s_k \leq t_{n_2}$, one has

$$h_{\lambda}(s_k) = \frac{\lambda - (1+\lambda)s_k}{1+\lambda - 2s_k}.$$

For this $h_{\lambda}(s_k)$, it follows from $\lambda - (1 + \lambda)s_k > 0$ that

$$(1 + \lambda - 2s_k)\psi^*(h_{\lambda}(s_k)) \ge \{1 - (1 - \lambda)s_k\}\delta_{i,j} + \{\lambda - (1 + \lambda)s_k\}(\gamma_{i,j} + \delta_{i,j})$$

$$\ge \{1 - (1 - \lambda)s_k\}\delta_{i,j} + \{-\lambda + (1 + \lambda)s_k\}(\gamma_{i,j} + \delta_{i,j})$$

$$= \{(1 + \lambda)\gamma_{i,j} + 2\lambda\delta_{i,j}\}s_k - \lambda\gamma_{i,j} + (1 - \lambda)\delta_{i,j}.$$

From $\psi^*(s_k) = b_k$ we have that

$$G_{\psi,\lambda}(t_i) \le \frac{1+\lambda-2s_k}{\psi^*(s_k)}\psi^*(h_\lambda(s_k)) = H_{\psi^*,\lambda}(s_k).$$

In the situation of $t_{n_2} \leq s_k$, we have

$$h_{\lambda}(s_k) = \frac{-\lambda + (1+\lambda)s_k}{1-\lambda + 2\lambda s_k},$$

and

$$(1 - \lambda + 2\lambda s_k)\psi^*(h_{\lambda}(s_k)) \ge \{1 - (1 - \lambda)s_k\}\delta_{i,j} + \{-\lambda + (1 + \lambda)s_k\}(\gamma_{i,j} + \delta_{i,j})$$
$$= \{(1 + \lambda)\gamma_{i,j} + 2\lambda\delta_{i,j}\}s_k - \lambda\gamma_{i,j} + (1 - \lambda)\delta_{i,j}.$$

Thus, the inequality

$$G_{\psi,\lambda}(t_i) \le \frac{1 - \lambda + 2\lambda s_k}{\psi^*(s_k)} \psi^*(h_\lambda(s_k)) = H_{\psi^*,\lambda}(s_k)$$

holds.

Suppose that $n_1 < i$. Then $g_{\lambda}(t_i)$ is given by

$$g_{\lambda}(t_i) = \frac{1 - (1 + \lambda)t_i}{1 + \lambda - 2\lambda t_i} = 1 - \frac{\lambda + (1 - \lambda)t_i}{1 + \lambda - 2\lambda t_i} = \frac{-\lambda \gamma_{i,j} + (1 - \lambda)\delta_{i,j}}{(1 - \lambda)\gamma_{i,j} + 2\delta_{i,j}}$$

Hence we have

$$\psi(g_{\lambda}(t_i)) = \frac{(2s_k - 1)g_{\lambda}(t_i) + 1 - s_k}{b_k} = \frac{-\{(1 + \lambda)\gamma_{i,j} + 2\lambda\delta_{i,j}\}s_k + \gamma_{i,j} + (1 + \lambda)\delta_{i,j}\}}{b_k\{(1 - \lambda)\gamma_{i,j} + 2\delta_{i,j}\}}$$

and

$$G_{\psi,\lambda}(t_i) = \frac{1 + \lambda - 2\lambda t_i}{\psi(t_i)} \psi(g_{\lambda}(t_i)) = \frac{-\{(1+\lambda)\gamma_{i,j} + 2\lambda\delta_{i,j}\}s_k + \gamma_{i,j} + (1+\lambda)\delta_{i,j}}{b_k}.$$

In the case of $s_k \leq t_{n_1}$, for

$$g_{\lambda}(s_k) = \frac{\lambda + (1 - \lambda)s_k}{1 + \lambda - 2\lambda s_k},$$

we have the inequality

$$(1 + \lambda - 2\lambda s_k)\psi^*(g_{\lambda}(s_k)) \ge (1 + \lambda - 2\lambda s_k)\{g_{\lambda}(s_k)\delta_{i,j} + (1 - g_{\lambda}(s_k))(\gamma_{i,j} + \delta_{i,j})\}$$
$$= \{\lambda + (1 - \lambda)s_k\}\delta_{i,j} + \{1 - (1 + \lambda)s_k\}(\gamma_{i,j} + \delta_{i,j}).$$

When $t_{n_1} \leq s_k$, we have

$$g_{\lambda}(s_k) = \frac{1 - (1 + \lambda)s_k}{1 + \lambda - 2\lambda s_k}$$

and

$$(1 + \lambda - 2\lambda s_k)\psi^*(g_{\lambda}(s_k)) \ge (1 + \lambda - 2\lambda s_k)\{(1 - g_{\lambda}(s_k))\delta_{i,j} + g_{\lambda}(s_k)(\gamma_{i,j} + \delta_{i,j})\}$$
$$= \{\lambda + (1 - \lambda)s_k\}\delta_{i,j} + \{1 - (1 + \lambda)s_k\}(\gamma_{i,j} + \delta_{i,j}).$$

Thus, the inequality

$$(1 + \lambda - 2\lambda s_k)\psi^*(g_{\lambda}(s_k)) \ge \{\lambda + (1 - \lambda)s_k\}\delta_{i,j} + \{1 - (1 + \lambda)s_k\}(\gamma_{i,j} + \delta_{i,j})$$
$$= -\{(1 + \lambda)\gamma_{i,j} + 2\lambda\delta_{i,j}\}s_k + \gamma_{i,j} + (1 + \lambda)\delta_{i,j}$$

holds. From $\psi^*(s_k) = b_k$, we obtain

$$G_{\psi,\lambda}(t_i) \le \frac{1 + \lambda - 2\lambda s_k}{\psi^*(s_k)} \psi^*(g_\lambda(s_k)) = G_{\psi^*,\lambda}(s_k).$$

We pick the index p satisfying $h_{\lambda}(t_i) \in I_p$, too. Assume that $i < n_2$. Then one has

$$h_{\lambda}(t_i) = \frac{\lambda - (1+\lambda)t_i}{1+\lambda - 2t_i} = \frac{-\gamma_{i,j} - (1-\lambda)\delta_{i,j}}{-(1-\lambda)\gamma_{i,j} + 2\lambda\delta_{i,j}}.$$

Thus we have

$$\psi(h_{\lambda}(t_i)) = \frac{(2s_p - 1)h_{\lambda}(t_i) + 1 - s_p}{b_p} = \frac{-\{(1 + \lambda)\gamma_{i,j} + 2\delta_{i,j}\}s_p + \lambda\gamma_{i,j} + (1 + \lambda)\delta_{i,j}}{b_p\{-(1 - \lambda)\gamma_{i,j} + 2\lambda\delta_{i,j}\}}$$

and

$$H_{\psi,\lambda}(t_i) = \frac{1+\lambda-2t_i}{\psi(t_i)}\psi(h_{\lambda}(t_i)) = \frac{-\{(1+\lambda)\gamma_{i,j}+2\delta_{i,j}\}s_p + \lambda\gamma_{i,j} + (1+\lambda)\delta_{i,j}}{b_p}.$$

In the situation of $s_p \leq t_{n_2}$, one has

$$h_{\lambda}(s_p) = \frac{\lambda - (1+\lambda)s_p}{1+\lambda - 2s_p}.$$

For this $h_{\lambda}(s_p)$, we obtain

$$(1 + \lambda - 2s_p)\psi^*(h_{\lambda}(s_p)) \ge \{1 - (1 - \lambda)s_p\}\delta_{i,j} + \{\lambda - (1 + \lambda)s_p\}(\gamma_{i,j} + \delta_{i,j})$$
$$= -\{(1 + \lambda)\gamma_{i,j} + 2\delta_{i,j}\}s_p + \lambda\gamma_{i,j} + (1 + \lambda)\delta_{i,j}$$

holds. Since $\psi^*(s_p) = b_p$, we obtain

$$H_{\psi,\lambda}(t_i) \le \frac{1+\lambda-2s_p}{\psi^*(s_p)}\psi^*(h_{\lambda}(s_p)) = H_{\psi^*,\lambda}(s_p).$$

When $t_{n_2} \leq s_p$, for

$$h_{\lambda}(s_p) = \frac{-\lambda + (1+\lambda)s_p}{1-\lambda + 2\lambda s_p},$$

it follow from $-\lambda + (1+\lambda)s_p \ge 0$ that

$$(1 - \lambda + 2\lambda s_p)\psi^*(h_{\lambda}(s_p)) \ge \{1 - (1 - \lambda)s_p\}\delta_{i,j} + \{-\lambda + (1 + \lambda)s_p\}(\gamma_{i,j} + \delta_{i,j})\}$$

$$\ge \{1 - (1 - \lambda)s_p\}\delta_{i,j} + \{\lambda - (1 + \lambda)s_p\}(\gamma_{i,j} + \delta_{i,j})\}$$

$$= -\{(1 + \lambda)\gamma_{i,j} + 2\delta_{i,j}\}s_p + \lambda\gamma_{i,j} + (1 + \lambda)\delta_{i,j}\}$$

Hence,

$$H_{\psi,\lambda}(t_i) \le \frac{1 + \lambda - 2s_p}{\psi^*(s_p)} \psi^*(h_{\lambda}(s_p)) = H_{\psi^*,\lambda}(s_p)$$

holds.

If $i > n_2$, then $h_{\lambda}(t_i)$ is given by

$$h_{\lambda}(t_i) = \frac{-\lambda + (1+\lambda)t_i}{1-\lambda + 2\lambda t_i} = \frac{\gamma_{i,j} + (1-\lambda)\delta_{i,j}}{(1+\lambda)\gamma_{i,j} + 2\delta_{i,j}}.$$

Hence we have

$$\psi(h_{\lambda}(t_i)) = \frac{(2s_p - 1)h_{\lambda}(t_i) + 1 - s_p}{b_p} = \frac{\{(1 - \lambda)\gamma_{i,j} - 2\lambda\delta_{i,j}\}s_p + \lambda\gamma_{i,j} + (1 + \lambda)\delta_{i,j}\}}{b_p\{(1 + \lambda)\gamma_{i,j} + 2\delta_{i,j}\}}$$

and

$$H_{\psi,\lambda}(t_i) = \frac{1 - \lambda + 2\lambda t_i}{\psi(t_i)} \psi(h_{\lambda}(t_i)) = \frac{\{(1 - \lambda)\gamma_{i,j} - 2\lambda\delta_{i,j}\}s_p + \lambda\gamma_{i,j} + (1 + \lambda)\delta_{i,j}\}}{b_p}.$$

When $s_p \leq t_{n_1}$, one has

$$g_{\lambda}(s_p) = \frac{\lambda + (1 - \lambda)s_p}{1 + \lambda - 2\lambda s_p}.$$

Hence, we obtain

$$(1 + \lambda - 2\lambda s_p)\psi^*(g_{\lambda}(s_p)) \ge (1 + \lambda - 2\lambda s_p)\{(1 - g_{\lambda}(s_p))\delta_{i,j} + g_{\lambda}(s_p)(\gamma_{i,j} + \delta_{i,j})\}$$
$$= \{1 - (1 + \lambda)s_p\}\delta_{i,j} + \{\lambda + (1 - \lambda)s_p\}(\gamma_{i,j} + \delta_{i,j}).$$

In the case of $t_{n_1} \leq s_p$, for

$$g_{\lambda}(s_p) = \frac{1 - (1 + \lambda)s_p}{1 + \lambda - 2\lambda s_p},$$

the inequality

$$(1 + \lambda - 2\lambda s_p)\psi^*(g_{\lambda}(s_p)) \ge (1 + \lambda - 2\lambda s_p)\{g_{\lambda}(s_p)\delta_{i,j} + (1 - g_{\lambda}(s_p))(\gamma_{i,j} + \delta_{i,j})\}$$
$$= \{1 - (1 + \lambda)s_p\}\delta_{i,j} + \{\lambda + (1 - \lambda)s_p\}(\gamma_{i,j} + \delta_{i,j})\}$$

holds. Thus, we obtain

$$(1 + \lambda - 2\lambda s_p)\psi^*(g_{\lambda}(s_p)) \ge \{1 - (1 + \lambda)s_p\}\delta_{i,j} + \{\lambda + (1 - \lambda)s_p\}(\gamma_{i,j} + \delta_{i,j})$$
$$= \{(1 - \lambda)\gamma_{i,j} - 2\lambda\delta_{i,j}\}s_p + \lambda\gamma_{i,j} + (1 + \lambda)\delta_{i,j}$$

and

$$H_{\psi,\lambda}(t_i) \le \frac{1 + \lambda - 2\lambda s_p}{\psi^*(s_p)} \psi^*(g_\lambda(s_p)) = G_{\psi^*,\lambda}(s_p).$$

Let $(r_j)_{j=0}^q = (s_j)_{j=0}^m \cup \{(1-\lambda)/2, \lambda/(1+\lambda)\}, r_{m_1} = (1-\lambda)/2 \text{ and } r_{m_2} = \lambda/(1+\lambda).$ From the above paragraph, we obtain

$$\max\{\max_{0 \le i \le n} G_{\psi,\lambda}(t_i), \max_{0 \le i \le n} H_{\psi,\lambda}(t_i)\} \le \max\{\max_{0 \le j \le m} G_{\psi^*,\lambda}(s_j), \max_{0 \le j \le m} H_{\psi^*,\lambda}(s_j)\}$$
$$\le \max\{\max_{0 \le j \le q} G_{\psi^*,\lambda}(r_j), \max_{0 \le j \le q} H_{\psi^*,\lambda}(r_j)\}.$$

On the other hand, considering about $(s_j)_{j=0}^m$ in the above paragraph, one can obtain the following:

- (1) For i satisfying $g_{\lambda}(t_i) \in I_j$, if $i < n_1$ then $G_{\psi,\lambda}(t_i) \leq H_{\psi^*,\lambda}(s_j)$, in the situation of $n_1 < i$ the inequality $G_{\psi,\lambda}(t_i) \leq G_{\psi^*,\lambda}(s_j)$ holds.
- (2) For i satisfying $h_{\lambda}(t_i) \in I_j$, if $i < n_2$ then $H_{\psi,\lambda}(t_i) \leq H_{\psi^*,\lambda}(s_j)$, in the case of $n_2 < i$ the inequality $H_{\psi,\lambda}(t_i) \leq G_{\psi^*,\lambda}(s_j)$ holds.

Thus we also obtain

$$\min\{\min_{0\leq i\leq n_0}G_{\psi,\lambda}(t_i^{(0)}), \min_{0\leq i\leq n_0}H_{\psi,\lambda}(t_i^{(0)})\} \leq \min\{\min_{0\leq j\leq m}G_{\psi^*,\lambda}(s_j), \min_{0\leq j\leq m}H_{\psi^*,\lambda}(s_j)\}$$

It follows from $\psi^{**} = \psi$ that

$$\min\{\min_{0 \le i \le n_0} G_{\psi,\lambda}(t_i^{(0)}), \min_{0 \le i \le n_0} H_{\psi,\lambda}(t_i^{(0)})\} = \min\{\min_{0 \le j \le m} G_{\psi^*,\lambda}(s_j), \min_{0 \le j \le m} H_{\psi^*,\lambda}(s_j)\}$$

and

$$\max\{\max_{0\leq i\leq n}G_{\psi,\lambda}(t_i),\max_{0\leq i\leq n}H_{\psi,\lambda}(t_i)\}=\max\{\max_{0\leq j\leq q}G_{\psi^*,\lambda}(r_j),\max_{0\leq j\leq q}H_{\psi^*,\lambda}(r_j)\}.$$

By the above lemma, $D(X_{\psi}, \lambda) = D(X_{\psi^*}, \lambda)$ holds.

Next we suppose that ψ is a strictly convex function in Ψ_2^S . For each $n \in \mathbb{N}$, let $(t_{(n)})_{i=0}^{k_n}$ be the dyadic partition $(k/2^n)_{k=0}^{2^{n-1}}$, and let $\psi_n \in \Psi_2^S$ be the piecewise linear function determined by the partition $(t_{(n)})_{i=0}^{k_n}$ and the values $(\psi(t_{(n)}))_{i=0}^{k_n}$. Then the sequence ψ_n is decreasing and $\|\psi_n - \psi\|_{\infty} \to 0$. From Lemma 4.1, we also have $\|\psi_n^* - \psi^*\|_{\infty} \to 0$. Since the partition $(t_{(n)})_{i=0}^{k_n}$ is simplified by the strict convexity of ψ , it follows that $D(X_{\psi_n}, \lambda) = D(X_{\psi_n^*}, \lambda)$. The continuity of $\psi \mapsto D(X_{\psi}, \lambda)$ implies that $D(X_{\psi}, \lambda) = D(X_{\psi_n^*}, \lambda)$.

Finally, let ψ be an arbitrary element in Ψ_2^S . By Lemma 4.2, we have a sequence (ψ_n) of strictly convex functions in Ψ_2^S such that $\|\psi_n - \psi\|_{\infty} \to 0$ and $\|\psi_n^* - \psi^*\|_{\infty} \to 0$ as $n \to \infty$. Thus, from Lemma 4.3, we obtain

$$D(X_{\psi}, \lambda) = \lim_{n \to \infty} D(X_{\psi_n}, \lambda) = \lim_{n \to \infty} D(X_{\psi_n^*}, \lambda) = D(X_{\psi^*}, \lambda),$$

as desired. \Box

References

- [1] J. Alonso, H. Martini and S. Wu, On Birkhoff orthogonality and isosceles orthogonality in normed linear spaces, Aequat. Math. 83 (2012) 153–189.
- [2] G. Birkhoff, Orthogonality in linear metric spaces, Duke Math. J. 1 (1935) 169–172.
- [3] F. F. Bonsall and J. Duncan, *Numerical Ranges II*, London Math. Soc. Lecture Note Series **10**, Cambridge University Press, Cambridge, 1973.
- [4] J. Gao and K.-S. Lau, On the geometry of spheres in normed linear spaces, J. Austral. Math. Soc. Ser. A 48 (1990), 101–112.
- [5] C. Hao and S. Wu, Homogeneity of isosceles orthogonality and related inequalities, J. Inequal. Appl. 2011, 9pp.
- [6] R. C. James, Orthogonality in normed linear spaces, Duke Math. J. 12 (1945), 291–302.
- [7] R. C. James, Orthogonality and linear functionals in normed linear spaces, Trans. Amer. Math. Soc. **61** (1947), 265–292.
- [8] D. Ji and S. Wu, Quantitative characterization of the difference between Birkhoff orthogonality and isosceles orthogonality, J. Math. Anal. Appl. **323** (2006), 1–7.
- [9] K.-I. Mitani and K.-S. Saito, The James constant of absolute norms on \mathbb{R}^2 , J. Nonlinear Convex Anal. 4 (2003), 399–410.

- [10] K.-I. Mitani and K.-S. Saito, Dual of two dimensional Lorentz sequence spaces, Nonlinear Anal. **71** (2009), 5238–5247.
- [11] K.-I. Mitani, K.-S. Saito and T. Suzuki, Smoothness of absolute norms on \mathbb{C}^n , J. Convex Anal. 10 (2003), 89–107.
- [12] K.-I. Mitani, S. Oshiro and K.-S. Saito, Smoothness of ψ -ditect sums of Banach spaces, Math. Inequal. Appl. 8 (2005), 147–157.
- [13] H. Mizuguchi, The constants to measure the differences between Birkhoff and isosceles orthogonalities, Filomat, to appear.
- [14] P. L. Papini and S. Wu, Measurements of differences between orthogonality types, J. Math. Anal. Appl. **397** (2013) 285–291.
- [15] K.-S. Saito, M. Kato and Y. Takahashi, Von Neumann-Jordan constant of absolute normalized norms on \mathbb{C}^2 , J. Math. Anal. Appl. **244** (2000), 515–532.
- [16] K.-S. Saito, M. Sato and R. Tanaka, When does the equality $J(X) = J(X^*)$ hold?, Acta Math. Sin. (Engl. Ser.) **31** (2015), 1303–1314.

(Hiroyasu Mizuguchi) Department of Mathematical Sciences, Graduate School of Science and Technology, Niigata University, Niigata 950–2181, Japan *E-mail address*: mizuguchi@m.sc.niigata-u.ac.jp

Received December 16, 2015 Revised April 25, 2016